Aluminum
Hand Truck
Assembly Guide

4




FIXED HANDLES

Use 5/16" x 1-1/2" Allen Head Screw
and 5/16" Locknut

SHOWN WITH:
Handle - VLP
Frame - F1

OO/

(
@—@—@m
_




DUAL GRIP and E4 HANDLE EXTENSION

DGV comes standard with the E4 Handle Extension

Use 5/16" x 1-3/4"
Allen Head Screw
and 5/16" Locknut

[/‘/:/@l;::f/“ _; )
T P L
F= SHOWN WITH:
Handle - DGV
Handle Extension - E4
Frame - F1

O]
9




DUAL HANDLE EXTENSION

Use 5/16" x 2"
Allen Head Screw
and 5/16" Locknut

i o=
S ]
e

SHOWN WITH:
Handle - DGV
Outside Handle Extension - E3

Inside Handle Extension - E5

Frame - F1

2=

[O]
]




E1, E2 and E3 HANDLE EXTENSION

Use 5/16" x 2"
Allen Head Screw
and 5/16" Locknut

Q
0 < |o
o
i S—
-2
L :
0 i o
i o=
D
0'=s -
=T SHOWN WITH;
Handle - SLP
Handle Extension - E3
Frame - F1
noe
@
o @
S~




CAl1 & CA2 NOSE PLATE

P £-——for 8" wheel™™"
./

Use 5/16" x 2-1/4" Bolt
and 5/16" Locknut

SHOWN WITH:
Nose Plate - CA1
Frame - F1

/for 10" wheel--~"

[©)
9
\_

@
@ g
@v
2]

@




EA1 & EA3 NOSE PLATE

e

5/16" x 2-1/4" Bolt
with 5/16" Locknut

L —

Insert bolts into first
— and third holes

SHOWN WITH:
/ Nose Plate - EA1

Frame - F1

Use bolts that come with plate,
(I Mgl | insert into plate prior to
_______ - tightening

L —

Use 8mm Washers and Locknut




EA2 & EA4 NOSE PLATE

5/16" x 2-1/4" Bolt
with 5/16" Locknut

/for 10" wheel- 89 -]
N

/
/
/

Use bolts that come with plate
and 8mm Washer and Locknut,
tap bolt into bracket prior to
tightening

L M

- M
: % Insert bolts into first
and third holes

SHOWN WITH:
Nose Plate - EA2
Frame - F1

S el

s )

@3

) |
Trap



AXLES

10" Wheels

8" Wheels




S1 STAIR CLIMBERS - 8”

e

Dl i SHOWN WITH;
) Stair Climber - S1
Nose Plate - CA1
o) Frame - F1

5/16" x 1-1/2" Bolt
with 5/16" Locknut




S1 STAIR CLIMBERS - 10”

SHOWN WITH:
Stair Climber - S1

Nose Plate - CAl
Frame - F1

5/16" x 2" Bolt
with 5/16" Locknut




N1 and N2 NOSE EXTENSIONS

SHOWN WITH:

Nose Extension - N2
Nose Plate - CA1
Frame - F1

5/16" x 2-1/2" Bolt and
5/16" Locknut

5/16" x 1" Bolt,
5/16" Washer and Locknut




BS and BL NYLON CARRYALLS




LOGO STRIPES

olc0] ©

v

T

Suw 50
mnuv..w 0...0-..:
gopox0B
0y o8 EY
SE£S8ET
Mme ]
_IOW.ImB

£

("]

SHOWN WITH:

Frame - F1



